N of reco track vs pT

N of associated (recoToSim) tracks vs pT.

N of associated (recoToSim) duplicate tracks vs pT

2 2 2 2
Q Q [} Q
g g g <l
S g 2
E 8 810
=
10 3
10"
I 10°
2 £ £ 12f-- 2
© © © ©
13 14 ! (s 14
E 0.5]
.'*' 0.8F--
A : : 06f-- ; ] ; ; :
O'10’1 1 10 2 ? 107 10 2 ? 100’1 1 10 2 2
trag‘l? P, (Ge\}f) traé‘lg P, (Ge\;')0 tra&l? P, (Ge\}f)
itE H H Ll acn
gzmgz ,ggnOIdF!Ieslz5_vz_preI!mWPM_epoch4
= —retrainBIaFIes125 V3 RigHPVEEMER ST Spocha h
2 g = Q R T T — teaa . 2
Q Q [} N . N . Q
8 8 8 feeeieenns . s
S g 2
510° = §10
=
10f: 3
10 [ 10~
! E: 10°
° o i e f ° H
& g M | & & :
0.9) o8fF H
I 03 ;
03 ! ' B i 0.6f :
0.7 . i i o i
321 0 12 3 -3 I R ] T2 3
track n track n
N of associated (recoToSim) tracks vs phi | N of associated (recoToSim) duplicate tracks vs pi_|
2 2 2 2
Q Q [} Q
g 8 s g
5 : s s
E ] 810
=
3
T

Ratio

10

L P P e e g e

Ratio

track @

Ratio

osff

0.6

-1

-3 -2 -1 0 1 2 3



	Contents
	Page 1


